precision.MIT \ Jector Pin Sets Jector Pin Sets /
TBHiEA B iHAR

HTPS001

L _ FL(Spring length 3§ &) Spring
az ERDEE inlgng.t,h Punch length AP IR & Scr(mdli;ug Constant

Type Punch Blank

= 60L 70L 80L 90L 100L 110L 120L g
6 16 24 065| 20| 15|22
M3x0.5
. 6 21 28 |33 | 43 | 53 065] 20 | 15 | 22
d-oos 8 165 | 20 10 | 28 | 20 | 30
d1 H M4x0.7
8 285 17 | 27 | 37 | 47 | 57 | 67 10 | 28 | 20 | 30
T 4‘ 10 165 20 14 |36 |20 38
FL I t M5x0.8
10 295 17 | 27 | 37 | 47 | 57 | 67 14 |36 |20 38 0.49N/mm
2 13 165 | 20 17 | 36|20 38 (0.05kgf/mm)
. . 1 29. 17 | 27 |37 | 47 | 57 | 67 17 |36 | 2 .
¥ Including Screw Plug M IE {8 44% 3 9> 3 7| 6 36120 |38
16/20/25 185 17 2736|2038 Mé6x1L0
16/20/25 255 17 2736|2038
16/20/25 375 17 | 27 | 37 | 47 | 57 27 1361|2038
8 28 28 14 | 28|20 |32
M4x0.7
A Type Material Hardness Delivery HTPS001 8 32 34 | 44 | 54 | 64 | 74 14|28 |20 32
k=] ME EE ZEH 10 28 26 17 (36|20 |43
8 Working Days
HTPS001 | SKD61 40HRC~ 10 32 3242526272 17 | 36| 20 | 43
8 ATYEH
13/16/20 28 26 2736|2043
M5x0.8
13/16/20 40 24 | 34 | 44 | 54 | 64 2736|2043
0.78~0.98
25 28 26 30| 36|30]43 N/mm
(0.08~0.1
25 40 24 | 34 | 44 | 54 | 64 30| 36|30 43 kgf/mm)
L _ FL(Spring length ) . Spring 10 28 26 17 [ 36| 20 | 43
E%e; PL;%%;&';;I( Pin length Punch length & BAfR SC'(m(E;ng Constant
ATEIER g E 60L 70L 80L 90L 100L 110L 120L BB 10 32 3214252 | 62 1713612043
4 14 30 | 40 | 50 | 60 | 70 035| 16 | 15|20 13/16/20 28 26 27136120143 M5X0.8
XU
M2.5x0.45
5 16 28 065| 1.6 | 1.5 | 20 25 28 26 3013630143
5 21 33 | 43 | 53 | 63 065 16 | 15| 20 25 40 24 | 34 | 44 | 54 30|36 |30](43
6 16 28 065| 20 | 15|22
M3x0.5
6 21 33 |43 |53]63 065| 20| 15|22
8 16.5 29 10 | 28 | 20 | 30
M4x0.7
8 285 27 |37 |47 |57 |67 |77 10 | 28 | 20 | 30
10 16.5 27 14 |36 |20 38 Order Ex. z]#&#565]
10 295 27 |37 | 47 | 57 | 67 | 77 14 |36 |20 38
HTPS001-d-L-FL
13 165 27 17 |36 |20 38 B
13 295 27 |37 | 47 |57 |67 | 77 17 |36 | 20|38 | M5x08 ob. shE
- : - - : : 0.49N/mm Pin Length BEHRE
HTPS001 | 16/20/25 185 27 2736|2038 (0.05kgf/mm) L SpringLength WEERE
16/20/25 255 27 2713612038
16/20/25 375 27 | 37| 47| 57 | 67 2736|2038
10 295 20 (27 (37|47 |57 |67 |77 |14|36]|20]|38
13 295 20 (27 37|47 |57 |67 |77 |17 |36]|20]|38
M5x0.8
16/20/25/32 255 27 2736|2038
16/20/25/32 375 27 |37 |47 |57 | 67|77 | 27|36 |20 38
5 33 31| 41|51 0.65| 1.6 | 1.5 | 2.0 | M2.5x0.45
6 33 31| 41|51 065| 20 | 15| 22 | M3x05
8 415 33 |43 | 5363 10 | 28 | 20 | 30 | M4x07
10 415 33|43 | 53|63 14 |36 |20 |38
13 415 33 |43 |53 63 17 |36 | 20|38 | M5x08
16/20/25 515 43 | 43 | 53 2736|2038
Further dimensions on repuest X u=unit

05-133 B RBRIEZEFK - BilEH




